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48 0| 106,490] 12250/ 8660 A 370] 82,710| 168,170| 377,910 0 4R BELL 2EHL B2ELL BELL EELL
58 0| 105,080| 11,400/ 3890 A 410 80440| 189,510| 389,910 0 558 2EHL 2EHL 2EHL 2ELL 2ELL
68 0| 102,430 7,950 3710/ A 520 76,090| 160,070| 349,730 24 68 BELL 2EHL BELL BELL EELL
78 0| 118,340 8930/ 4100 A 640 67,160| 163,810| 361,700 0 78 2EHL 2EHL 2EHL 2ELL 2ELL
8A 0| 114,340| 14280 3430 A 450 76,150| 159,950| 367,700 24 85 BELL 2EHL BELL BELL EELL
98 0| 69,040 4770/ 1860 A 380 67,440| 108,320| 251,050 48 9A 2EHL 2EHL 2EHL 2ELL 2ELL
108 0| 115,460/ 10,050 4,800/ A 580 85,990| 182,750| 398470 24 108 BELL BELL BELL BELL BELL
118 o| 101,510/ 10,350 4,190 A 380 80,750| 159,200| 355620 0 118 BELL BELL R2ELL BELL 2ELL
128 0| 89,260/ 12010/ 3790 A 240 84,150| 131,120| 320090 0 128 BELL 2EHL BELL BELL EELL
18 0| 114,100| 11,040/ 3640 A 250 77,550| 150,910| 356,990 120 18 ERHL ERHL BELL BEELL =2EAL
25 0| 84.920] 22220/ 2810/ A 170] 79,750| 153,750| 343280 96 25 BELL 2EHL BELL BELL EELGL
38 0| 80,990] 8120/ 5030 A 260 77,340 79,420| 250640 312 38 2240 2240 2240 2ELL 2ELL
g 0| 1,201,960 133,370 49910/ A 4,650 935,520| 1,806,980(4,123,090 648
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8H30H <0.003 <0.1 <0.1 <0.01 <0.05 <0.01 <0.0005 | F#&H <0.0005 <0.01 <0.01 <0.02 <0.002 <0.004 <0.1 <0.04 <0.3 <0.006 <0.002 <0.006 <0.003 <0.02
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8H30H <0.01 <0.01 1 <0.8 <0.05 <0.2 <0.3 <0.2 <0.1 <1 <1 26 85 8 <1 <1 35 <1 9.3 11 <10 <30
JKE D Hr(ALIEK)
- T340 |, - e 11-Ssalozi2- [11-RY |112-Ry (13— N
Re |mRsoslesry [Emua | w7097 x| eke | TSV pos |VZ00 |axFL |F7RR| HAE [1229R 0230 |Sonnz(sanTs|sanTa|nnTa | Fo54 | vy [TV
: “ v (o BE (RTEY | FLvo v > Ry ’
5H25H <0.003 <01 <0.1 <0.01 <0.05 <0.01 <0.0005 | F~t&H <0.0005 <0.01 <0.01 <0.02 <0.002 <0.004 <01 <0.04 <0.3 <0.006 <0.002 <0.006 <0.003 <0.02
8A30H <0.003 <01 <0.1 <0.01 <0.05 <0.01 <0.0005 | F~t&H <0.0005 <0.01 <0.01 <0.02 <0.002 <0.004 <01 <0.04 <0.3 <0.006 <0.002 <0.006 <0.003 <0.02
11A16H | <0.003 <01 <0.1 <0.01 <0.05 <0.01 <0.0005 | F~t&H <0.0005 <0.01 <0.01 <0.02 <0.002 <0.004 <01 <0.04 <0.3 <0.006 <0.002 <0.006 <0.003 <0.02
2820H <0.003 <01 <0.1 0.01 <0.05 <0.01 <0.0005 | F~t&H <0.0005 <0.01 <0.01 <0.02 <0.002 <0.004 <01 <0.04 <0.3 <0.006 <0.002 <0.006 <0.003 <0.02
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5825H <0.01 <0.01 <1 <0.8 <0.05 <0.2 <0.3 <0.2 <0.1 <0.1 0.6 <1.0 15 10 <1 <1 35 <1 6.7 <5 20 <30
8H30H <0.01 <0.01 <1 <0.8 <0.05 <0.2 <0.3 <0.2 <0.1 <0.1 0.3 <10 19 4 <1 <1 25 <1 6.5 <5 20 <30
118168 <0.01 <0.01 <1 <0.8 <0.05 <0.2 <0.3 <0.2 <0.1 <0.1 04 <10 79 3 <1 <1 30 <1 7.0 <5 30 <30
2H20H <0.01 <0.01 <1 <0.8 <0.05 <0.2 <0.3 <0.2 <0.1 <0.1 0.7 39 20 4 <1 <1 29 <1 6.5 <5 <100 <30




